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Ept 1 - ° -
DHLE YRY-7HYk MEEHCER
- 202246 AR | 20224E3 A K | 202286 AR | 202243 A K
1 [ERYRY 69,782,576| 66,790,325 5,771,830 5,529,674
2 56 BENFEBERS 25,649,933| 23,955,270 2,051,994 1,916,421
3 56, NEMRATFiEER S 39,421,697| 38,843,344 3,342,959 3,293,915
55 BEEGHEDIIRR—v— - - - -
56, J—REEIZHTHRBEERFMBEOTIRAR—Tr— 9 9 0 0
Z0ith 4,710,935 3,991,701 376,874 319,336
4 |(AVB—NR—T4ERYRY 8,442,409 8,337,029 683,594 674,423
5 5%, SA-CCRER % - - B, -
55, ALV THRKR—Iv—H KBRS 2,561,014 2,451,883 210,405 201,403
6 56, MBTIRAR—Cry—AXBERS - - - -
5%, CVAURY 3,424,593 3,495,478 273,967 279,638
56, RREEHEREET I RR—Tr— 659,698 629,576 52,775 50,366
Z 0t 1,797,102 1,760,090 146,445 143,016
7RI R=ZARITE LB RELIRAR—Dr— 1,857,293 1,673,593 157,498 141,920
g [JR7 IxALOHSLHRREERYZY 7L OABLHE 4331120 3,806,817 364,413 318,618
9 '(J _:}/7%7_1'% hiat))ﬁm LA EXIZERYRY 7 EvbDHLELEE 1,665,661 1,419,460 133,977 113,891
DRz ARDAHELEERIFERVRY -7yt DHELEE
(EAMAH250%) ) B B B
'(Jgg<1 g;%:gg;})ﬂb?rﬁXliEFH')X’?-Tt‘yho)zﬁtil,?r%: 138,563 124772 11,622 10,460
10 '(J ;{f_-r}bljg;g)ﬁ%ﬁ?gf)mi{%ﬁi')z’7-7t\y|~a>a>u:; LEtE 94,147 92,217 7531 7377
11 [FRRFERE 4,265 3,307 361 272
12 ERYRY-TEIrDEOEERREGES>TNSEFILTIRAR—Tr— 2,228,126 2,026,276 178,250 162,102
13 56, REMET FEERAX X EREFEAXBERS 610,006 529,733 48,800 42,378
14 56, SHERIB AT ERA K ER S 1,162,737 1,072,768 93,018 85,821
15 56 RENTFEENAXNERS 334,562 302,056 26,764 24,164
55.1250% DY R - A ER S 120,820 121,717 9,665 9,737
16 |v—Hyk-JRY 6,194,353 4,389,929 495,548 351,194
17 56 RENAXBERS 1,155,273 1,167,487 92,421 93,398
18 565 RABETILAXERS 5,039,079 3,222,441 403,126 257,795
19  |ARL—afIL-YRY 7,973,152 7,990,173 637,852 639,213
20 56, ERNFRERS 3,124,166 3,124,166 249,933 249,933
21 5. BFHE S FRERS - - - -
22 56, EEMEHRIFIEERS 4,848,986 4,866,007 387,918 389,280
23 BEEBEEOSL., BAEEBICEASAGEWLBAITHREITIRAR—Iv— 5,028,035 4,663,176 426,377 395,437
BBREEICLYIRY - TEIFDEBIZHEASNS LD DEE - - - -
24 |oO7RE 16,679,007 20,606,911 1,334,320 1,648,552
25 |[HBE(RT=ITI7I—ER) 127,539,733 124,914,250| 10,203,178 9,993,140




